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Fall 06 /MAT 220/Worksheet 2  Name: o/ fi}?f'el|m Show all your work.

1. (7pts) The polynomial f(z) = 2% — 20* — 52® — r — 7 is given.

a) Use Theorem 2 in 2.1 to find an interval on the z-axis that must contain all the zeros of
this polynomial

b) Graph the function on this interval (ves, on paper!).

¢) Find all the zercs to three decimal places.

d) Does this polynomial have the maximal number of zeros possible for a fourth-degree poly-
nomial?
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2. (5pts) Use the graph of the function to answer the following. Justify vour answer if a
limnit does not exist.
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3. (10pts) The rational function f(z) = o

a) Find all the o~ and y-intercepts for the graph.
b) Find the vertical asymptotes of the graph.
¢) Sketch a graph of the function on paper.

d) Find algebraically if the graph has a horizontal asymptote. If so, display it on your graph.
¢) lim f(z)= oo
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4. (8pts) Consider the limit lin ———
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a) Use your calculator to make a table of values, Estimate the limit to three decimal places.
b) Find the limit algebraically and compare your answer to a). o= e s AT ,‘r,;_,[_ .:..ﬁ(' 5
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